GEOMETRY 22 MID-TERM EXAM REVIEW
e
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Note to student: This%et should be used as practice for the Geometry 22 midterm exam. This should not
be the only tool that you use to prepare yourself for the exam. You must go through your notes, re-do
homework problems, class work problems, formative assessment problems, and questions from your tests
and quizzes throughout the year thus far. The sections from the book that are covered on the midterm exam
are:

Chapter 1
1-1 Visualizing Geometry
1-2 Points, Lines, and Planes
1-3 Measuring Segments
1-4 Measuring Angles
1-5 Angle pairs
1-6 Basic Constructions
Chapter 2
2-2 Conditional Statements
2-3 Biconditionals and Definitions
2-4 Deductive Reasoning
2-5 Reflexive, symmetric, etc
2-6 Proving Angles Congruent
Chapter 3
3-1 Lines and Angles
3-2 Properties of Parallel Lines
3-3 Proving Lines Parallel
3-4 Parallel and Perpendicular Lines
3-5 Parallel Lines and Triangles
3-6 Constructing Parallel and Perpendicular Lines
Chapter 4
4-1 Define congruent figures
4-2 Triangle Congruence by SSS and SAS
4-3 Triangle Congruence by ASA and AAS
4-4 Using Corresponding Parts of Congruent Triangles
4-5 Isosceles and Equilateral Triangles
4-6 Congruence in Right Triangles
4-7 Congruence in Overlapping Triangles
Chapter 5
5-1 Midsegments of Triangles
5-2 Perpendicular and Angle Bisectors
5-3 Bisectors in Triangles
5-4 Medians and Altitudes
5-6 Inequalities in one triangle
Chapter 6
6-1 The Polygon-Angle Sum Theorems
6-2 Properties of Parallelograms ' '
6-3 Proving that a Quadrilateral Is a Parallelogram
‘ GOOD LUCK!
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4. In the figure below, mZDAF =18x—3. Find the indicated measures.
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6. Refer to the statement: “All rectangles are parallelograms. P
a) Rewrite the statement as a conditional. '%}/;?’?
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¢) Draw a Vemgtt’o illustrate the statement.
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d) Write the converse of the conditional.
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e) If the converse is false, give a counterexample:
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7. Refer to the statement: “4 square is a figure with four congruent sides.”
a) Rewrite the statement as a conditional.
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b) Write the converse.
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d) Dec1de whether the statement is a definition. Explain your reasoning.
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/ 8. In the figure at right, lines  and s are parallel, m/2 = 40°, and m£4 = 60° find: .
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9. If lines £ and / are parallel, m£4 = (3x -10)° and m£5 = (x + 70)°; find:
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10. If m4HAG = (7x + 4)°, and m&CAB = (9x — 10)°, find the following:
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12. The interior angle sum of a regular polygon is 1980°. How many sides does the polygon have?
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14. An exterior angle of a regular polygon is 24°. Find the number of sides in the polygon.
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15. In the diagram below F, E, and D are midpoints.
AC=_E¥ If AB=55,then FE=_Z 4 &
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. Can8,12and 1 i iangle? Explain. /%Y r«dﬂw x
17. Can 8,12 and 16 be t}f sides of a triangle? Explain ey ‘(// s L 7 Ca /‘fj J/ 5
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19, "ﬁxrough any two points there is exactly one s ”?@

20. The intersection point of the perpendicular bisectors of a triangle is the L reareenrer

For quéstions 21 and 22, refer to the figure at the right. c

21. EFisa A7ERY P of anBC
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22. AD is an altitude of AABC. D
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23. Find the value of x if AD is an altitude of AABC. ¢
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24. Determine m4 A, m4 B, and mA.C if £ A is supplementary to £ B and complementary to £ C.
mlA=(x+ 10)°, msB = (12x + 1)°. ms.C = (5x + 2)°
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25. Write the conditional and converse of the statement, and determine if the converse is true. Ifitis not,
write a counterexample.

=> If an angle measure is 32 degrees, then it is an acute angle.
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Find the measure of all labeled angles in the diagram.
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41. Given: RT;RU, TS =US

40.

J

Prove: ATRS = AURS
Q) Statements Reasons
1. RS=&S Reflewive FOC
&) 2. RT=RU 2. Given
@ 3. Ff 2 OF¢ 3. Given
4. ATRS = AURS 4. SO

42.  Given: £TRS and £TRL are right angles, ZRTS = ZRTI

Prove: RS =RL

Statements Reasons
{@ 1. ZRTS = ZRTL 1. §/.l/€»7
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3. ZTRS and LTRL are right angles | 3. &ovves
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43.  Given: Z1 and Z3 are supplementary
Prove: min me /
® o
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Statements Reasons
1) £1 and /3 are supplementary; transversal p | 1) § .
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3) £1 and £2 are a linear pair

3) definition of £ /#esr Airr

4) £1 and £2 are supplementary
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5) 2md/ # LR = SO
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Statements Reasons

1. mfln L. &ven

2. Z1 and £5 are Corresp. Angles 2. j)@»{h Corres p *“MW‘}/""J

3. 1= /5 3.
4. mZl=m/L5
5. Z5 and £7 are a Linear Pair 3.
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45. Describe what is being constructed in the figure at right.
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46. Describe what is being constructed in the figure at right.
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47. Describe what is being constructed in the figure at right.
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Complete. Refer to the figure at the right.
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Solve for x

49. 50. 51.
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54. a.) According to the diagram, what are the lengths of E andPs? /O P
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() b.) How is PR related to ZSPQ?
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Find the range of possible measures for XY in AXYZ.
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58. List the 6 properties of parallelograms. X oL N
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O In parallelogram ABCD, m&DAB = 11x + 1, m4ABC = 2(7x + 2), m4CDB = 6x + 1, m4DCA = 5x — 1. Find the

following measures.
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65. Solve for x and y. FI || GH.
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(10x + 3P (7/6' 'iﬁfa"f’) = ds’%’?’f} : S¥o
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66. Solve forx.

&5 Sides
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67. Given: Q is the midpoint of PR, £P = XORT
Prove: ASQP = ATQOR

Statements Reasons

1. O is the midpoint of PR . &G rpess

2. }@EE 2. Z)e?"?f‘a’*é}. M,‘g‘fﬂ oo e I
3. XP=AQRT 3. &) e

4. «£SOP and ATQOR are vettical angles | 4. Depfon  er 7, 4{ Ky
5. XSQP=XTQOR 5. VAT

6. ANSRP = D750, 6. A54

68. Draw the angle bisectors of the triangle at right. The
intersection of these angle bisectors is called the

Wlodrkale and is the center of the
joscribe circle. (Sketch the circle.)
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69. Draw the perpendicular bisectors of the triangle at right, The intersection of
these perpendicular bisectors. ‘g c‘:;\éled the C/P CamICes™e and is\the
center of the L/~ Cabtr®ers BEE circle. (Sketch the circle.)
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70. Draw the medians of the triangle at right.

The intersection of these 7‘[}” (;éi
mediansis calledthe  CE7T¥or k.




71. Draw the altitudes of the triangle at right.

The intersection of these
altitudes is called the _ O/ %0 C‘el’)'/{&i’f"

72. 1fH] = 26, thenKL= /.3

73. If Hf=3x-1and KL=x+ 1, then H] =

3)("/:.2(}’»7‘5)
2¥-f T 2XA2

/QJ; 203)71 = @}

X = 3
74. Solve for x.
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75. - Given: mZSRT =88, m£Q =49’
Prove: mLP =473 '
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Statements Reasons
1. m£SRT =88°, m£Q =49 1. Given
2. ZPRQ and ZSRT are vertical angles 2. De -/»7, Verteea s ,,57@&7 Jor £
3. p o 22 LSAT 3. Vertical Angle Theorem Y
4. mLPRQ=mZSRT 4. De fﬁ, ﬂﬁgﬁﬁ C S UL E.
5. m/PRQ = 8%° 15 Tanss Zive AL | Suticts v POE
6. mLP+mZQ+mLPRQ =180° 6. 777 4rale Sers “FHrm
7. mZLP+49°+88°=180° 7. S ‘ékf%ry%;f,y«{; on ;Qg,&“f
8. &P #/37= 1Fo° 8. Combine Like Terms
9. e = #3° 9. Subtraction Property of Equality




